Sole UK Distributor,
Sealey Group,

Bury St. Edmunds,
Suffolk.

PARTS DIAGRAM & LIST FOR:
BENCH-TOP BELT/DISC SANDER

Model: SM14/C

Original Date: 170400
Issue Date: 170400
Version No: 1
Date Modified: 1stissue
Item Part No. Description Item Part No. Description
1 SM14C/01 FRONT BELT GUARD 24 SM14C/24 SCREW M6 x 10
2 See below SAND BELT 25 SM14C/25 BELT PULLEY
3 SM14C/03 BEARING RETAINER 26 SM14C/26 BELT PULLEY
4 SM14C/04 BEARING (6201Z) 27 SM14C/27 V-BELT (VIM21)
5 SM14C/05  WORK TABLE 28 SM14C/28 V-BELT COVER
6 SM14C/06 DRAWING ROD 29 SM14C/29 SCREW M4 x 6
7 SM14C/07 SPRING 30 SM14C/30 SCREW M4 x 6
8 SM14C/08 ADJUSTING SCREW 31 SM14C/31 ALUM. DISC (See below for sanding disc)
9 SM14C/09 SUPPORT 32 SM14C/32 SCREW M4 x 6
10 SM14C/10 SPRING 33 SM14C/33 FENCE
11 SM14C/11 WASHER 34 SM14C/34 MOTOR
12 SM14C/12 SCREW M6 x 10 35 SM14C/35 BASE
13 SM14C/13 GUIDE WHEEL 36 SM14C/36 SCREW M10 x 50
14 SM14C/14 HANDLE 37 SM14C/37 WASHER
15 SM14C/15 BEARING (6201Z) 38 SM14C/38 WORK TABLE UNIT
16 SM14C/16 BEARING RETAINER 39 SM14C/39 ANGLE GAUGE
17 SM14C/17 GUIDE WHEEL 40 SM14C/40 TOP ROD M8
18 SM14C/18 BACK BELT GUARD 41 SM14C/41 NUT M8
19 SM14C/19  PIVOT BRACKET SANDING BELTS/DISC
5(1) gmmgg? E(EICN;VO\/igﬁglR_ATE SM14/B060G SANDING BELT (60G)
29 SM14C/22 SCREW M10 x 8 SM14/B100G SANDING BELT (100G) .
23 SM14C/23 V-BELT COVER SM14/D80G SANDING DISC (80G) 150mm dia.

T 01284 757500 01284 703534

Enail: sales@sealey.co.uk




